g

(1/0) do/d r

Ratio to ATLAS

[EEY

0.5

13000 GeV pp
[~ T

L Opening angle rg (ATLAS soft-drop observables) _

— B ATLAS

— o~ Pythia 6.428 345 i
— & Pythia 6.428 346 B
—A— Pythia 6.428 370
Pythia 6.428 default
—a— Pythia 8.308 default

Rivet 3.1.10, = 2.5M events

|
mcplots.cern.ch [arXiv:1306.3436]

— 4) |
e "L A =
| \ i N - —
[BAN : Lo :
/ A X oA T 1 :
— ) \ K \ Gl "7\ \\ " f [
rla A —é 0 2 A B O N
B 7 (= e K \ F b~ LN T
= 7 — 2 . g fe
T= T Yy R <A\ T/ N\
I O /4 o @) 7 AN Ny Y ] —
ca) Xu N .
III : Y wEOW
3 1 .".-- D N
| | L | | | | | | | | PO o
_l T T T T T | T T T T | T T T T T |_
— , . ]
| I
N _ I _
- T A D ! 7/ : —
— A.Q [ 2O -
L A Y T b P -P -
-‘ 4 "“_q‘ oz M N\ E'%H vf‘l‘“..A.l L A P
— AR - \A v ﬁ 5 4
— -
B 1
| " 1 1 1 1 " | " 1 " 1




	Contents
	Page 1


